s BE (RBAE] P1
£HM34£3A31BRE (4t : F)
( ) &% ( ) &8
® B & & 1% ® A &
1 3 & ) 1 # & 800,000
2 7 & 2,800,000 2 % #h & )
3 % # & ) I T N S )
s B O’ E ) 4 < ) 50,000
5 % #h & 30,000 5 7 Y & 30,000
TR OB 3 % & A 10,000 6k oK B OB % )
# O®m &R OE G ) TR BOE A OB % )
® M OB & § )
r & K
i AW ® A E I r & &
1R R R 15,000,000 1E M # A £ 6,820,000
28 W R U % B 200,000 x & & & 6,820,000
3TR. BERU M & 100000 | &8 & & % )
ARk EE & E R 15,300,000
i & W ® & K ( )
18 B m A 70000 (I # & A & #
® BB E & E B 70000 | i & & 8,000,000
i NBHEETOROAE N S 8,000,000
15 B oH & 2 200000 | i B @ H % @
2F M W % B M 140,000 1R & £ @ & 500,000
SRR E OO RER 340,000 RN I
®r & E B 15,710,000 (1) HEEERAERE 0
(2) MamIs
® E & & D BRI 500,000
B xR AW 500,000
® E & E B (3) BMFRALHBRE
4 S 25 S 2 )
AMRRERE 850,000
SEEY Y P )
ZOMAERRSF )
MRS 3,050,000
e RAERH 11,050,000
MEEaH 11,050,000
BEAH ) BERUMEESH )




R NE

B %% 2% 4A 1H

[(ZE /M) P2

) Z 4% 34 3A31H (i : F)
(RADO#) (IR#FD#B)
H H & & B H & 8|
( ) =] ( ) &
I MNEXRA I HRERRE
1% t B @ | % t =
(1) $ e 216, 000 (1) EEAFLH 30, 000, 000
(1) SRR 11,000,000 |0 HEHEERRE
(3) #sEHEN ( ) | 1 HEEERRERETRE )
( )
I ERMRERRA
THERR 10, 000
EXRA A 11, 006, 000 ¥ R Wi A B )
( RRESERADE )
I MREREEHERA
1| RESIA )
( g4 D) ( ) RESERASH )
( —BREEAROB)
I\ — R EER
1 NGB
Mm#&e & H M (
B B # #H (
ME £ B A R 1, 260, 000
WmE ® E £ = 150, 000
2 £HR
Mk & B & & 90, 000
w#H & E = 50, 000
3) X i = (
4 = - = (
Gk B %X & R 500, 000
(6) i& g B 150, 000
mE B A & = 30, 000
® @ i B M R 500, 000
(9) 5 & 7 150, 000
X % F & ¥ 20, 000
e #£ T =K 1, 200, 000
(1) & i 4 50, 000
1) % h ® B # 300, 000
(1) K% 83 &% & 8 A 10, 000
(15) # % (
3 HBiRES
moB & =B 500, 000
- BREERAM 18, 210, 500
( A &) ( )




[EERK] P3

) ( )
V ERRE V BRI
11X fh ]| B 120, 000 1 %2 ) ]| B 80
28 x B @B A 100, 000 17 2 WM OB 4 £ 1,000
I U A 5785, 450
ERARASH 220, 000 ERANEAN 576, 500
BERELHE )
(  WHARROH) (  WEANEOH)
% M M % VE B N &
REIEISREA 10, 000
LR TR 0 % B OB & & M 10, 000
BN LML )
B %
EABRUVEERS 400, 000
BREAR 400, 000
) )




l\Dv—aA

- o DN =

(
H
E

BN

fn 24
fn 34
)
e R ]
Hij SO AT A <

P2 1 i <2
IS RIS
SRl RV
20 AL R
FIH ol
b v i o S 2 <

)

4
3

H
H

(

3

mc

1
1

)
850,000 (

100,000 (

[RER#E] P4

(HApE 2 1)
ARZERFERLE

(




